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QUESTION 1

Fundamental to service-orientation is the ability to continually recompose existing services into new compositions with
minimal impact. This is why service-oriented technology architectures are required to be composition-centric. Select the
correct answer.

A. True

B. False

Correct Answer: A

QUESTION 2

The Service Loose Coupling principle is concerned with the relationship between the service contract and service
consumers but also with the relationship between the service contract and whatever the service encapsulates. Select
the correct answer.

A. True

B. False

Correct Answer: A

QUESTION 3

Fill in the blanks for the following definition of the Service Discoverability design principle: "Services are supplemented
with communicative metadata by which they can be effectively and
Select the correct answer.

A. designed, discovered
B. discovered, interpreted
C. discovered, refactored
D. discovered, deployed

Correct Answer: B

QUESTION 4
Fill in the blank for the following definition of the Service Reusability design principle:

"Services contain and express logic and can be positioned as reusable enterprise

resources." Select the correct answer.

A. non-agnostic
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B. agnostic

C. distinct
D. new

Correct Answer: B

QUESTION 5

The principle can be applied together with the principle and the
principle to establish a service contract that conforms to design standards, does not impose
negative dependencies upon service consumers, and does not reveal unnecessary information about its underlying
implementation. Select the correct answer.

A. Standardized Service Contract, Service Statelessness, Service Reusability
B. Standardized Service Contract, Service Abstraction, Service Autonomy

C. Standardized Service Contract, Service Loose Coupling, Service Reusability
D. None of the above.

Correct Answer: D
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